Problem C:
Dungeon Quest I
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for(i=0; i < damege_size; i++)
for(j =0; j < (1 << potions_size); j++) if(dp[i]
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> 0)
RN

for(k = 0; k < (1 << potions_size); k++) if((j| k) ==j) {
hp = usePortions(dpli][j], hp_max, j*k, potions)
dp[i + 1][k] = max( hp — damege[i], dp[i + 1][k]);

}
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for(i=0; i < damege_size; i++) {
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for(j =0; j < (1 << potions_size); j++) if(dp[j] > 0)
for(k = 0; k < potions_size; k++) if((j & (1 << k)) ==0)
dp[j | (1 <<k)]=max(dp[j | (1 <<k)],
min(hp_mayx, dpl[j] + potions[k]);
for(j=0;j < (1 << potions_size); j++)
dplj] -= damegeli];
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